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Ot N &Y 603,209 542,059 61,150
ME2E 2 MYEAM =22 217,743 202,845 14,898
8 29 FA L 22 215,376 201,499 13,877
101 @121l 36,674 31,512 5,162
04 JI2ZtH 22 XNEE 36,674 31,512 5,162
OHIHMIZH o124b]| 18,337
—-J|I=23 60,2403 *1H %200 12,048
—F5Y 60,2403 1 52 3,138
— X< 60,2403 x1H x15L 904
—40 B8 16,085,000& *14% 2,252
OXsX JIgold oA 18,337
—-J23 60,2403 1 %200 12,048
—F5=Y 60,2403 1 52 3,138
R P 60,240& *1H %15 904
—4EE = 16,085,000& *14% 2,252
2 B2 A H| 86,702 103,712 A17,010
AP 22l Bl 79,940 96,950 A17,010
OXX A H = 27,090
— NegA DX A 22,050
S 63,000& x 1502+ A 9,450
s A2 63,0003 x50 A 3,150
- AEE 63,000& x50 A 3,150
M= 63,000& x 1002+ A 6,300
— M= XA 63,000& *30Ef A 1,890
— M= S=E0XNAM 63,000& x50 A 3,150
Oz L S8 dZHEAAE Xz
1,210,000 x12& 14,520
OFMNARE 2 16,500
— Z2AEX 25,000& *3002+ A 7,500
—ZEHI EH 8 425 U
250,000& =204 5,000
—DFITEHI) A2F WA 400,000 *10H 4,000
OgRoU =22 M 9,000
— 39 60,000& *120H*103] 7,200
— g 2rat 15,000& x 1200 103 1,800
OXNLME =2 M 5,000& *300& 1,500
OM2Asg AR2us M H&
10,000& 1002 1,000
Oda AR 2AFIH M& 200,000 «5H «23] 2,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
“HSA B% o MBEAF S A
7,000 x14H x70 6,860
— M2+ MYE> A4 7 0002 x3H 70 1,470
02 332494l 6,762 6,762 0
OLFIMHA Z20HUY =2 250,000& »20AH 5,000
O2Hd HE =2 2,000& x500AH 1,000
OUg&d =4S =2 1,000& *30021 300
OHSEAIXIII ADEE SML2
38,5002 *1CH+x12& 462
202 (4] 14,000 14,000 0
01 2L Y| 14,000 14,000 0
O&LHH bl 14,000
— XA M2 A 20,000& x5 x50 5,000
— XA HMeeH & 20,000& x6H x50 6,000
— M= MH A= 20,000 *3H x50! 3,000
203 R =&lY| 4,500 4,275 225
03 Al =X H 2 =X Y| 4,500 4,275 225
OMBEAM L XM 24 = 4,500,000 4,500
301 dEtEAZ 11,000 9,000 2,000
1M IIEtE &2 11,000 9,000 2,000
OXNYLAN HAYMA 4AFAXNZS
10, 000& *20H *500H 10,000
OEZEYANA AN AT AZ 1,000,000& 1,000
303 A2 20,500 19,000 1,500
01 ZAZ 20,500 19,000 1,500
O=2SHa g2 4= 160,000, 000& *5% 8,000
OXYAH Mg AT AZ 250,000,000 *3% 7,500
ONoI+Y M F+T43
100,000, 000& *5% 5,000
405 XHaHF SHI 42,000 20,000 22,000
01 JHAtE = ZF S b 40,000 20,000 20,000
OJIGoUIAAAE =IIE X 40,000,000 * 14 40,000
02 = A7 2,000 0 2,000
Oz 2,000
— XA g3y 50,000& *20& 1,000
— XA A2 Y HEE 100,000 x25 +53 1,000
NAH AR20Is 23 2,367 1,346 1,021
306 23 2,367 1,346 1,021
01 &9 = 2,367 1,346 1,021
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15,777,794,000& *1.5/10,000 2,367
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201 et d| 22,340 11,396 10,944
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5,540,000& 5,540
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80& 20,0004 1,600
OXEA JIAHE Ol =42 80&=+30,0004 2,400
308 XHXIEH SOl A 34,772 34,356 416
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16,766,000 16,766
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16,933,000 16,933
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02 2I|2SO e A=2EAEAS Y 4,294 1,481 2,813
OXNUEEANAE RFEOH HALE
4,294,000 4,294
Nel = Tz 2e| 34,870 26,000 8,870
201 LBt Y| 14,400 6,000 8,400
01 AP 22| d| 14,400 6,000 8,400
O ZLEAIAE X E2H|
1,000,000 x12& 12,000
ONEI+Q SIEHY MBIE g8 442
80& 10,0004 800
ONMZ=2 JI&AM 018 =2
80! x20,00024 1,600
308 XAHXIEH SO0l & 20,470 20,000 470
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_ 3 _




2M: R

Bu: gAY oEE 2
S MMAE MAE 22| (e &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
—SAXIAI BEXQF o2 58,924
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201 LEr2 Y| 79,615 72,655 6,960
01 At 22l Yl 79,615 72,655 6,960
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—d3FrE 6,700 x16,000& *1. 1%50% 58,960
— NMAlSol 2,025
g 019 H 50& x20,0002A4 *23] *50% 1,000
SEHdXANE 100& 15,0004 *50% 750
FEHXAL EE2 55& 10,0002 *50% 275
—HAMADE 6,750
A giold P22 5,0008 200X x50/ 100 500
FEHHEASTH HYE 8,000 *1,0000H*50% 4,000
NEITEH EH 8 A2 WA
200,000& * 1090 *50% 1,000
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— B0 g 1,950
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— = &l 7,350
SEZ0MAHI(ZH)
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42 = 40,211,000 x14% 5,630
201 LBt 92,410 90,910 1,500
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— HE S AKX A 8,000
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o=l 8,400
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01 2L HI 5,400 5,400 0
O3AH & =2A2) = 60,000& 6 x153] 5,400
SSHQ At 2,692,362 1,720,061 972,301
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HAF L XEae 966,966 853,634 113,332
X A =Ly = | 903,386 814,134 89,252
101 @124l 1,050 0 1,050
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—siH= 150,000& *3H 1 450
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— EAN Hx HA(2H, AH)
1,800, 000& *23] 3,600
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—St&EA S7 SEN 7Y
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7,250,000 »2CH 14,500
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OXgEE= 24,480
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OXtS XHAl 5,040
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— 238 ESEXH(1,600cc 012+) 400,000 «1CH 400
— 285 X(1,000cc 018H) 60,0003 »2CH 120
—X=Z 2 0= 550,000 *5CH 2,750
—-sg 100, 0002 *3CH 300
— 3= 40,0003 = 18CH 720
O =zl 1,800
— ZAHZAIDEA) 150,000& = 12& 1,800
202 o4dl 3,360 3,360 0
01 = LH o4 1l 3,360 3,360 0
OXgdEH & FIEd 283 o4l
20,0003« 1Hx14L 123 3,360
SR Matzte] 63,580 39,500 24,080
201 LB-2E | 56,380 34,700 21,680
01 At 2t 2l 6,380 4,700 1,680
O3 2te| 1,200
—MNRESZ 7Y 100,000& =122 1,200
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70,000& x10H «53| 3,500
O= &l 1,680
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O&2 o dl 75,0003 x28H 8 16,800
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